SuMPO SUMPO EPD SuMPORIESAILTOTF s

—MEAAFEAY AT IR E HEE S
‘.E PD 14T NEIEEZE (EPD) HRETFREXAHE-14-8
VERIFIED KANDA SQUARE GATE

E#ES © JR-AI-25363E https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BETMIL EIRR A /R-vavkAaH
FUJIFILM Business Innovation Corp.

- A3 HS—EEH

A3 Color Multifunction Printer

S— ApeosPort C5570 (Model-CPS)
— | (for TW)

Apeos. Apeos 00, ApeosPro. ApeosPort . B&U ApeosPrint (&, ELIMIVAEIRZAA INR—S KRS OB HREIEFAEIZETT,
Xerox. Xerox OJ. BLUFuji Xerox 0T KECOVIZA OB IREIEE(EEETT,

HEHNL ERES JR-AI-25363E
P EFAPCRES  pPA-590000-Al-08
PCR#% G N PAL;: 21
HE X SRR NEGS! 2026518308
5387 O] eh R Bt RIEEHEE 20254128230
OREMEERE QEE Q@B OfEF - REEA VAT LEREAEA
®FEE- Y1 RAES 2025-FB-EL-084

WBEEE#hHEARE 2030%12822H
PCRLEI-DEE
RFEHZ 20235F09A8 01H

HEoRN, TEMEKR-FET
itk : ApeosPort C5570 (Model-CPS)

FEMLE P h5-EEH EPAHR)
EIRIEE : /70 55ppm (A4 LEF)
55— 55ppm (A4 LEF)

BAAEYIX 1 SRA3(320x450 mm).

12x18"(305%x457 mm). A3
FUY/AC-/AFVY
T EN R BE/ADF(R TS B Bh5tiA &)

ZER i B2

(FTE —MRAEEIEAYZT SOV E e
B=ERAE 1B T
SMERIREES

ISO14025(CE 1A E B R U7 -5 DIMILLIAREE

O ER WA
VAT LRAEZ I B EAORIEDH A, YATLRIETLEEED
ZRTEE

BMuahth BEIAMIAESRRASINR—>3 VR

EEMAX AR EHFSUV6THIE
https://www.fujifilm.com/fb/

E85&FS © JR-AI-25363E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SUMPORRIESANINTOI S A

SuMPO

EPD Sli-M Pg e —BHEEAYAT IR
q | .0 4T NBEZE (EPD) BT AR AHE1-14-8

MERLRIED KANDA SQUARE GATE
BRES JR-AI-25363E https://ecoleaf-label.jp
FM1I91 I IV R &5l R

\=ms . s fER - HE
FRREEZERR | LSRR TOBER RS 59;: BESEERRE

SUREE - AF kg-COzeq 8.93E+02 2.72E+01 4.11E+01 2.98E+02 1.54E+02
AV BHEIE kg-CFC-11eq | 6.56E-05 4.63E-08 2.63E-08 1.21E-05 3.35E-08
EXREL kg-PO.3-eq 1.55E-02 1.23E-03 1.87E-04 1.74E-02 1.84E-04
[izqc2id kg-SO2eq 2.34E+00 1.84E-01 6.40E-02 1.36E+00 1.66E-01
HAEAXIIV kg-CzH.eq 1.77E-02 3.55E-05 4.32E-04 2.68E-03 1.30E-03
FEMERES - L9 kg-Sbeq 8.84E-01 1.02E-04 1.35E-05 1.52E-01 3.23E-05

F1IY1IIWAIRY M) SR BIEE R
—REROERICEEY B3R

FRERE | SERE | AR E?n'g% R
=S
BEME—RER - IxL¥- (RPRy MJ 1.77E+03 2.33E+02 9.73E+00 1.48E+03 7.27E+01
BAARE—REE - IRLX-2BHK (RPRy) MJ 1.51E+01 3.91E-03 2.52E+02 6.53E+02 1.37E-02
EF/EABE—RER - TRIF— (NRPRg) MJ 1.45E+04 9.44E+02 4.77E+02 6.96E+03 8.47E+02
JEEAETE—RENE - TRLE-2EHE (NRPRy) MJ 1.81E+03 2.96E-01 2.83E+00 8.32E+02 1.78E-01
KKDEEE m?3 4.45E+00 2.55E-02 2.65E+01 6.98E+01 1.30E-02
EEREICEIT2EMIEIR
BEETAEELTEELELE,
EEHEPHR)DIEEYFUATEELTVET,
‘B ROBEFEAPRASERMTT,
(EA - HEFERBE LB ZENRIBROBHEEENE A,
(FEARBOEA . IRVF-R9-T0JILVer3 28 ¥ (SR> CAE LETECEETICEE LELE,
AT ENRIMEL, 451,2000CF,
1/4x 32 (Y3F/B) x 47 #&) x 5 (B) x 4 (B) x 12 (7 B) x 5 (£E) = 451,200%
Z Dt DIRIZEREELR
MRS LY ECRET 2B E S HEEYEICEHT 315K
H-9E (ERZS) Bify EH CAS No. ERE
A 62 kg - - -
Sus 12 kg - - -
FIVIZUL 0.86 kg
Z0MtEE 9.9 kg ERALEZRT-IDEXH
T5AFYY 44 kg FREAIE, LCT -5 N-RIDEA Ver3.4, SUIMPOREEININFOYS LB FT-H
=N 0.20 kg Ver.1.16Z2fEALTVET,
AR 1.8 kg
A 8.4 kg e
FLE A BEEAR 4.0 kg -
THRER & 6.4 kg
Z0fts 5.8 kg

@7 -YEENDH L. PCRELVEE - EERBESBLTEZIL,
OLLEIIOVWTR, BEE EERBICHEINLZGEHLISHEICLIRHONEEA,
(BER5EURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

